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Solving Quadratics - Formula, surd form
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1. Solve using the quadratic formula, giving your answer in simplified surd form:

V2 +10v+2=0 b)2+6h- 1=0 Q)X +2x- 2=0

df?- 7f - 4=0 e)g°+8q- 4=0 f)y’-y-5=0
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2: Solve using the quadratic formula, giving your answer in simplified surd form:

a)-k+5k-1=0 b) W - 4w- 1=0 c)-j*- 10j+5=0

d) - 6s+1=0 €)-c*- 9¢c- 4=0 fy-2f*-5f - 1=0
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Answers. Solving Quadratics -

surd form

Formula,
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1. av=-5+C3 b) h=-3+ Q10 c)x=-1+CB
d)f =33+ 3065 e)q=-4+2Cb fyy=3+3Co1

2. ak=2+Cn1 byw=2+Cp c)j=-5+080
d)s=3+2 e) c=-4;+ 3065 fyf =-1;+ 3017
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